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dgdga I2l€l U6C geoia gga I 4IRS |
Candidates should attempt any 10 (ten) questions of
GROUP—A with word limit of 250 words and should

attempt any 5 (five) questions from GROUP—B
with word limit of 300 words.

ae181ei171169 GROUP—A § 606a16d €0 g¢ga @aa 980 &
(1IEQ 99° GROUP—B §) 696@161d 85 g9Q 2@
Moo 8 FRIER ATE QY6 |

GROUP—A

. Is it possible that the Revolt of 1857 began too soon, before the

preparations had reached their full potential? If this is not the
case, then why was there a defeat? 5+10=15

4@l QA9 @ 1857 F6QI2 ¢Q 41g AR 6LIRAR, gYS 6ATesa gd
aicielyen 0eBR §IQ? A 12l Q6L, 6062 URIRA ARG M7

. How did the old guarantee system play a pivotal role in the

introduction of the railway system in India? 15

RUQPER 60F MITIQ YLERER JRIOR GHI6RE 4gl RO g9 §Fel gad
QmI?

. In the fight for Indian independence, how did Mahatma Gandhi

inspire women to join the cause? 15
QUGG QRSS! AGIFER FRIF CIN ARRIAIRE 1@ QIHIER 6QITERY
QA8 6gQél coRaem?
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11.

12.

. What role did the Indian National Army play in the Indian Nationalist

movement? 15

QKOG PIVIAIA1 ZICRIFFER NNGIE 1910 639 684 Gl‘ﬁﬁa‘l Q24 [RAYMI?

Discuss how the socio-religious reform movements shaped the
growth of national consciousness among Indians. 15

AAIPS-AUTR AR AR JOR WRAGIA ARG FRIEA RV 6997IR
UCQEQ @UQ §UEINI 6Q TEAER 2IENISR KOG |

What were the provisions of the Pitt’s India Act of 17847 15
1784 @ ¢ 42l 2] @ 4egl 4 aAMI?
Discuss the Treaty of Seringapatam (1792) and its consequences.

15

6QQENAISE| (Seringapatam) 17920 9@ 49° I2IQ IQEIF SVAER LIERISK!
Qeg |

How did the ‘Economic Drain’ take place in India? 15

RANGER 2E6FER 6@R (Economic Drain) @98 609 62mI?

. What were the factors that led to the growth of trade unions in

colonial India? 15

ARV QUGEFER 669 RAFLRQ RQE UGN FQEGLR @& AMI?

What were the main features of the Government of India Act, 1935?
15

QAR QRIS 1935 Q1A &Y 6TFGIR @€ aAMI?

Trace the growth of early uprisings against the British with special
reference to Odisha. 15

SdflIee §qaca giade 96012 98 B4 9R6gI16R QI K04 |

Discuss the agrarian reforms in the post-independent India. 15

QIR0 IR ARGER QT A°AIQ FAER ACAISR F9G |
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GROUP—B Candidate

must not
13. Why is the period from 1793 to 1794 in France referred to as the| write on
Reign of Terror? 20 | this margin.

1793 @ 1794 Qdis QIQER @ 2] FIPe UGS 28R (Reign of
Terror) 691@ QLIK?

14. How was the European society reshaped after the Industrial
Revolution? 20

8399 a6a 9eaIaIa AAIe AR QUILAE caMI?

15. What were the social causes of the Russian Revolution of 19177
20

1917Q Q8 9¢ea IR FREGER @4 ARI?

16. Discuss the role of Jawaharlal Nehru and his Non-Aligned Movement
during the era of cold war crisis. 20

S19R B TS ANUER FULANIN 62624 9Y° QIFA 66191 TN AR
(Non-Aligned Movement) @ 9@ SE96Q 2IERISRF FQG

17. Discuss the role of Nelson Mandela in the Anti-Apartheid movement.
20

21& E’JI‘E]]?J:Q (Anti-Apartheid) ZI6RQIFFEQ 6PNLR F16€RI (Nelson Mandela)
@ @i F8A6x UENSR @AY |

18. How did Gorbachev try to revitalize and transform Russia through
his political and economic policies? What was the reaction of the
conservative section of the communist leaders towards Gorbachev’s
reform policy? 20

66I0QI6ER (Gorbachev) PIFQ QIRCRED I° AY6FOR 91D AIUFER QEQ
gea1de 8 QUI8a 2A9IQ F98 608! @GIY6R ? 69IRRI69RN (Gorbachev) &
AR F10EQ RYIPY 600IF VLSNP AU YOI @8 AR |
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